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X-9.6.10 EFR#HOBENEES (W20, TypeF, Z&ALZE 0.625m)

1.0
—— F-Wf30-F-07
—— F-Wf30-F-10
—— F-Wf30-F-12
0.5

Z[m]

‘=15 -1.0 -0.5 0.0 0.5 1.0
X[m]

X-9.6.11 EFFHOBENEES (WF30, TypeF, RA&NLE 0.625m)

1.0
—— 0-Wf20-F-20
—— O-Wf20-F-40

“XIm]

X-9.6.12 EfR#HOBENEES (W20, TypeF, #A&LZE 1.250m)
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Z[m]

1.0

F-Wf20-G-20
F-Wf20-G-30
F-Wf20-G-40

F-Wf20-G-50

-2.0
X[m]
X-9.6.13 EfMHOBEEEF (W20, TypeG, EAAR(LE 0.625m)
— O-Wf20-G-20
— 0O-Wf20-G-40

-0.5
-4.0

-35 =30 -25 =20 -15 =10 =05 0.0 0.5
X[m]

X-9.6.14

ERY OBEEES (W20, TypeG, BANME 1.250m)

9-23
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90.7. ERYDEENKR

FEMTRE R O W T AL DO 7= O ENE 2B L 72, K- 9.7.1~[X-9.7.42 12, I HDAF v
va v beoRd. ERMEB X OUKE 2R Lz 3SR BN, 8 Eim s % 77— A Z L IZ)E
R,
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T= 9.50079 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 00024000

1,5002+000

1.0002+000
5,000e-001
0, 0002+000

V=1, 000)

T=9.501[s]

T= 12.00028 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 00080000

1,500e+000

1. 0008+ 000
5,000e-001
0.000e+000

(V=1.,000)

T= 12.000[s]

T= 13.00082 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.,500e+000
1. a00e+000
T= 13.001[s] 5. 0002001
0, 000e+000

V=1,000)

T= 14.00012 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0002+000

1.500e+000

1. 00084000

T= 14.000[51 5, 0008-001

0, 0002+000

V=1,000)

(a) 3 WL (b) 1B 17 7538 20 AT
K- 9.7.1 EHREHEROKEOY I =2 lb—3a R (F-WFf10-A-10)
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T=  9.50079 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1,000e+000
5. 0008-001
0. 0002+000

=1, 000}

9.501[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000
1,500e+000
100024000
T= 12.002[s] 5.0008-001
0. 000e+000

W=1,000}

T=13.00082 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0008+000

1.500e+000

1.000e+000
5.000e-001
0. 000e+000

=1, 000y

13.001[s]

T=14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1.500e+000
1. 000e+000
5, 000e-001

T= 14.001[s] I

0, 0002+000

=1, 000}

(a) 3 WL (b) 1B 17 7538 20 AT
K- 9.7.2 EHREHEROKEOY I =2l—3a R (F-WF10-A-15)
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T=  9.50079 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.5002+000

1,000e+000
5. 0008-001
0. 0002+000

(¥=1,0003

9.501[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 0008+ 000

1,500e+000

1.000e+000
5.0008-001
0. 0002+ 000

(¥=1,0003

12.002[s]

T= 13.00082 XZ plain y= 0.52(j=6)
vector max=2.000000

2.0008+000

1.500e+000

1. 000e+000
5. 000e—001
0. 000e+ 000

(¥=1,0007

13.001(s]

T= 14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.500e+000

1. 000e+000
5, 000e-001
0. 000=+000

(¥=1,000)

14.001[s]

(a) 3 W&IT B (b) 1B 17 7538 0 AT
K- 9.7.3 EHRHEROKEOY I =2 l—3a R (F-WF10-A-20)
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T= 850149 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 00024000

1,5002+000

1.0008+000
5.000e-001
0, 0002 +000

=1, 000>

8.501[s]

T= 10.50133 XZ plainy=0.52(j=6)
vector max=2.000000

2.000e+000

1,5008+000

1.000e+000
5. 000e-001
0, 00084000

=1, 000}

10.501[s]

T= 11.50063 XZ plainy=0.52(j=6)
vector max=2.000000

2.0008+000

1.500e+000

1.000e+000
5.000e-001
0. 000e+000

=1, 000}

11.501(s]

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1, 0008000
5, 0002-001
0, 000e+000

{v=1,000})

12.501s]

(a) 3 WL (b) 1B 17 7538 20 AT
K- 9.7.4 EFRHEROKEOY I =2 lb—3a R (F-W20-A-20)
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T= 850149 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00024000

1.500e+000

. 0008+000
T= 8.501[s] 5.000e-001

0, 000e+000
T= 10.50133 XZ plainy= 0.52(j=6)

vector max=2.000000

w=1,000)

2.000e+000

1,5002+000

1.000e+000
5. 000e-001
0, 0002 +000

w=1,000)

T= 10.501[s]

T= 11.50063 XZ plainy= 0.52(j=6)

vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
5. 000e-001
0. 000e+000

=1, 000y

T= 12.50117 XZ plainy=0.52(j=6)
vector max=2.000000

T= 11.501[s]

2.000e+000

1.500e+000

1.000e+000
5.000e-001
0. 000e+000

=1, 000}

T= 12.501[s]

/

(a) 3 WL B (b) 1B 17 71538 0 AT
K- 9.7.5 EHREHEROKEOY I =2l —3a R (F-W20-A-30)

9-29



T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 000e+000

1,5002+000

1.0002+000
5. 000e-001
0, 00024000

(V=1.,000)

T= 8.501[s]

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 0002+ 000

1.5002+000

1.000e+000
5.000=-001
0. 00024000

(V=1.000)
e

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

T= 10.501[s]

2, 000e+000

1.50024000

1, 000e+000
5.0002-001
0. 00024000

/ (V=1,000)

T= 1250117 XZ plain y= 0.52(j=6)
vector max=2.000000

T= 11.501[s]

2.000e+000

1.5002+000

1.000e+000
5,0002-001
0, 000+ 000

St E
/ (W=1.000)

T= 12.501[s]

(a) 3ot B (b) A 11 17 ¥7iE 328 4y A
K- 9.7.6 EHREHEROKEOY I =2l —3a R (F-W20-A-40)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

Ii.soomonn

1.000e+000
S, 000e-001
0, 000e+000

V=1,000} |

—_
[}

8.501[s]

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.500e+000

1.000e+000
5.000e-001
0. 0004000

AV=1.,000}

T= 10.501[s)

T= 11.50063 XZ plainy=0.52(j=6)
vector max=2.000000

2. 000e+000

1.500e+000

1.000e+000
5.000e-001
0.000e+000

<V=1.,000%

11.501[s]

T= 12.50117 XZ plainy=0.52(j=6)
vector max=2.000000

2, 0002+000
1.500e+000
1.0008+000
T= 12501 [S] 5.000e-001

0. 000e+000

V=1.000)

(a) 3T (b) 1B 17 7538 0 AT
K- 9.7.7 EHREMEOKEOY I =2 lb—3a R (F-W20-A-50)
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T=  9.50079 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00024000

1,5002+000

1.0002+000
5.0002-001
0, 0002+000

V=1, 000)

T=9.501[s]

T= 12.00028 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
100024000
T=12.000[s] 5.0008-001
0.000e+000

(V=1.,000)

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.,500e+000
1. a00e+000
T= 12.501[s] 5. 0002001
0, 000e+000

V=1,000)

T= 14.00012 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0002+000
1.500e+000
1.000e+000
T=14.000[s] 5,0008-001

0, 000e+000

1V=1,000)

(a) 3 W&JT B (b) 1B 17 71538 20 AT
X-9.7.8 EHREHEOKEOY I =2l —3a R (F-WF30-A-07)
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T= 9.50079 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 00024000

1,5002+000

1,0002+000
5.0002-001
0, 0002+000

V=1, 000)

T=9.501[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
100024000
T=12.002[s] 5.0008-001
0. 000e+000

(V=1.,000)

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1,500e+000
1. a00e+000
T= 12.501[s] 5. 0002001
0, 000e+000

V=1,000)

T= 14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 00024000

1.500e+000

1. 0001000

T= 14.001[s] 5,0008-001

0, 000e+000

1V=1,000)

(a) 3 W&JT B (b) 1B 17 71538 20 AT
K- 9.7.9 EFREHEOKEOY I =2l —3a R (F-Wf30-A-10)
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T=  9.50079 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 0008+ 000

1.500e+000

1.0002+000
5. 000e-001
0. 000e+000

(¥=1,000)

T=9.501[s]

T= 12.00152 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.500e+000

1.000e+000
5.0008-001
0. 0002+ 000

(¥=1,000%

T= 12.002[s]

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.500e+000

1,000e+000
5. 000e-001
0. 000e+000

(¥=1,000?

T=

12.501[s]

T= 14.00136 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.500e+000

1. 000e+000
5, 0008-001
0. 000e+000

{¥=1,0007

T= 14.001[s]

(a) 3 WJT B (b) 1B 17 7E 38R 20 AT
K- 9.7.10 ERBEOCAKEDOY I 2l —a R (F-WE30-A-12)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1,500e+000

1.000e+000
5.000e-001
0, 000e+000

V=1,000)

T=  8.501[s]

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1,500e+000

1,000e+000
5. 000e-001
j0,000e+000

“=1.0000

10.501[s]

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
1.500e+000
1,000e+000
5,000e-001

10, 000e+000

11.501[s]

=1, 000)

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1.,000e+000
5,000e-001
0, 00064000

¥=1.000)

T= 12.501[s]

(a) 3 W&IT B (b) & 1B 17 715388 20 AT
X-9.7.11 EFMEOKEOYI=L— 3 R (0-WF20-A-20)
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T= 8.50149 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.,0008+000
8.501[s] Iﬁ.oooauul
0,000+ 000

€V=1.000)

T= 10.50133 XZ plainy=0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1,000e+000
10.501s] 5. 0006001
0, 000e+000

¥=1.000)

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1,500e+000

1,000e+000
5,000e-001
10, 000e+000

=1,000)

11.501[s]

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.5002+000

1.000e+000
5,000e~001
0, 0002+000

v=1.000)

12.501[s]

(a) 3 W&IT B (b) 1B 17 715388 20 AT
X-9.7.12 EFEHEROKEOY I 2L —3 3 UER (0-WF20-A-40)
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T= 9.50202 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0008+000

1.500e+000

1.000e+000
5, 0008001
0. 0008+ 000

W=1.000)

9.502[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2., 0008+ 000
'1.5009:000
10008000
T= 12.002[51 Iﬁ.uuueum
0, 000e+000
.(\f=1 .000)

T=13.00205 XZ plainy=0.52(j=6)
vector max=2.000000

.Z.UUUE‘UUU
1.500e+000
1,000e+000

T= 13.002[s] . 00000t
0, 000e+ 000

V=1.000)

T= 14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0002+000

1.500e+000

1.0008+000
5,0005:001
0. 0008+ 000

V=1.000)

T= 14.001[s]

(a) 3 &L B (b) & 1B 17 7538 20 AT
K- 9.7.13 ERMEOCKEDOY I 2l —a R (F-WF10-E-10)
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T= 9.50202 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1.5002+000

1,000e+000
5.,000e-001
0.000e+000

V=1,000)

T=9.502[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1,5008+000

1.000e+000
5.000e-001
0,000e+000

v=1.000)

12.011[s]

T=13.00205 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1,0008+000
5.000e-001
0.000e+000

V=1,000)

T:

13.012[s]

T= 14.00136 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0008+000
5, 0008001
0,0008+000

V=1, 0000

T= 14.011[s]

(a) 3 WL B (b) 1B 17 7538 20 AT
K- 9.7.14 ERBEOCKEOY I 2l —a R (F-WF10-E-15)
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T= 9.50079 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0008¢ 000

1.500e+000

1.0008+000
5.0008-00L
0,000=+000

V=1,000)

9.501[s]

T= 12.00028 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.5008+000

1.000e+000
5, 0002001
0, 0008+ 000

V=1, 0003

12.000(s]

T= 13.00082 XZ plain y= 0.52(j=6)
vector max=2.000000

ILEOD;-DOD

1.000=+000
5. 000e-001
10,0008+ 000

V=1,000)

2.000e+000

13.001[s]

T= 1400012 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

l1.50ve-uou

1.0008+000
5, 0008-001
0.000e+000

=1, 0003

14.000[s]

(a) 3 W&JT B (b) 1B 17 7538 20 AT
K- 9.7.15 ERBEOCKEODOY I 2l —a R (F-WF10-E-20)
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T= 9.00114 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0008+000

1.500e+000

1.000e+000
5, 0006001
0. 00084000

=1, 000)

9.001[s]

T= 10.50009 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1,5008+000

1.,000e+000
10.500[s] -

0,000e+000

T:

V=1,000)

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0008+000

1,500e+000

1,000e+000
T= 11.501[s] 5.0008-001

0.000e+000

V=1,000)

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

.:L.sotnvooo

1.0008+000
5,0005:001
0.000e+000

V=1, 000y

2,000e+000

T= 12.501[s] T

(a) 3 W&IT B (YA i B awiil
K- 9.7.16 ERBMEOCKEDY I 2l —a R (F-Wf20-E-20)
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T= 9.00114 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0008+000

1.500e+000

1.0002+000
5.000e-001
0,000=4000

V=1,000)

9.001[s]

T= 10.50009 XZ plain y= 0.52(j=6)

vector max=2.000000

lLEUDu'OOU
T=10.500[s]
T= 11.50063 XZ plainy= 0.52(j=6)

1.000e+000
5.0005:001
0, 000+ 000
>(V=1.UOO)
vector max=2.000000
li‘EUU:'OOD
1,000e+000
5.000e-001
0. 000+ 000

V=1,000)

2.000e+ 000

2.0008+000

T= 11.501[s]

T= 1250117 XZ plainy=0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1,0008+000
5.000=-00L
0., 0002+ 000

(¥=1.000)

T= 12.501[s]

(a) 3 W&IT B (b) & 1B 17 7538 20 AT
K- 9.7.17 ERBEOCKEOY I 2l —a R (F-Wf20-E-30)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

'1.500;- 000

1, 000e+000
5.000e-001
0, 000e+000

/ e
.

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

T:

8.501s]

2,000e+000

1,500e+000

1,0002+000
5.000e-001
0, 0008+ 000

(=1,000)

T= 10.501[s]

T= 1150063 XZ plainy= 0.52(j=6)

vector max=2.000000

2. 00084000

1,5008+000

1,000e+000
5. 000e-001
0, 00084000

w=1,000)
/

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

T= 11.501[s]

2,000e+000
ll.EOOe' 000
1.0008+000
5,000e-001

T= 12.501[s]

0, 000=+000

e )
/ il

(a) 3ot B (b) A 11 17 ¥7iE 328 4y A
- 9.7.18 ERME KRN I 2l —a R (F-Wf20-E-40)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

'1.500=‘ 000

1.000e+000
5.000e-001
5, 000e+000

‘=000
/

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

T:

8.501[s]

2,000e+000

1,500e+000

1,0008+000

5, 000e-001

T= 10.501[s] 5, 0006+ 000
/ e

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1,000e+000
5.,000e-001
0. 000e+000

T= 1250117 XZ plain y= 0.52(j=6)
vector max=2.000000

T= 11.501[s]

2.000e+000
li.EOOe‘ 000
1.000e+000
5.,000e-001

T= 12.501[s]

0, 0008+000

e ]
/ e

(a) 3T (b) 1B 17 7538 0 AT
K- 9.7.19 ERBEOCKEDOY I 2l —a s #ER (F-Wf20-E-50)
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T=  9.50202 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0008+000

1.5002+000

1,0002+000
5.000e-001
0. 00024000

tv=1.000)

T=9.502[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+ 000
'1,5003»000
10008+ 000
T= 12.002[s] Iﬁ.uuu=om
0.0006+000
“v=1.0000

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000
'1,5003—000
1,0008+000
T= 12.501[s] Is.ouo.om
0.000+000
— “ev=1.0000

T= 14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0008+000
=, 0008001
0,0002+000

v=1.000)

T=14.001[s]

(a) 3 WL B (b) 1B 17 7538 20 AT
K- 9.7.20 ERBEOCKEDY I 2l —a R (F-WE30-E-07)
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T=9.50202 XZ plainy= 0.52(j=6)
vector max=2.000000

2.,0008+000

1.500e+000

1.000e+000
5, 0008001
0, 00084000

W=1, 0003

9.502[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,5002+000

1.000e+000
5, 0002001
0, 0008+ 000

V=1, 0003

T=

12.002[s]

T= 1250117 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000
5. 0008-001
0, 000e+000

V=1.000)

T= 12.501[s]

T= 1400136 XZ plainy= 0.52(j=6)
vector max=2.000000

2.,000e+000

1.500e+000

1.0008+000
5, 0008001
0, 000e+000

(V=1.0003

T= 14.001[s]

(a) 3 WL B (b) 1B 17 7538 20 AT
K- 9.7.21 ERBEOCKEOY I 2l —a R (F-WE30-E-10)
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T=  9.50079 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000
5, 0008001
0. 0008+ 000

¥=1,000)

9.501[s]

T= 12.00028 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0008+000
lijnna:ono
10008+ 000
T=12.000[s] Iﬁ.uuu=om
0.0006+000
“v=1.0000

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0002+000
5. 000e-001
0, 0006+ 000

v=1,000)

12.501[s]

T= 14.00012 XZ plainy=0.52(j=6)
vector max=2.000000

2.000e+000

'1.5003'000
1,000+ 000
T= 14.000[s] 5, 0008001

/ 0, 0002+ 000

“ev=1.0004

(a) 3 W&IT B (b) 1B 17 71E 38 20 AT
K- 9.7.22 ERBEOCKEDOY I 2l —a R (F-WE30-E-12)

9-46



9.001[s]

10.500(s]

11.501[s]

T= 9.00114 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1,500e+000

1,000e+000
5.000e-001
0. 000e+000

(V=1.000}

T= 10.50009 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1,500e+000

1,000e+000
5,000e-001
10, 000e+000

W=1.,000)

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2.,000e+000

1.500e+000

1.000e+000
5.,000e-001
0, 0002+ 000

W=1,000)

T= 12.501[s]

(a) 3 WILHRIX
X-9.7.28 EFHEVKEOY I 2L — 3 VR (0-Wf20-E-20)

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

'1.500!- 000

1,0002+000
5,000e-001
0, 0008+ 000

W=1,000)

(b) $ 1L W e ook 53 A7
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T= 8.50149 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

l1.5005~000

1. 000e+000
5. 000e-001
0. 000e+000

=1, 000}

8.501[s]

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1.000e+000
5. 000e-001
0, 000e+000

=1, 000}

10.501[s]

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.500e+000

1,000e+000
5. 000e-001
0. 000e+000

V=1, 000

T= 11.501[s]

s siisiiiiiiiiiiiiiii

T= 1250117 XZ plainy=0.52(j=6)
vector max=2.000000

2,000e+000

I1.500?+000

1.000e+000
5,000e-001
10, 000e+000

w=1,000)

T=12.501[s]

(a) 3 WL B (b) 1B 17 7538 20 AT
X-9.7.24 EFEHEROKEOYI 2L —3 3 4R (0-WF20-E-40)
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T=  9.50079 XZ plain y= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1,000e+000
5.,000e-001
0.000e+000

V=1,000)

9.501[s]

T=12.00028 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0006+000
'LEOOB‘OUO
1.0008+000
T=12.000[s] Iﬁ.nuuom
o, 0006000
“tv=1, 0000

T= 13.00082 XZ plainy= 0.52(j=6)
vector max=2.000000

.Z.UUUE‘UUO
1.500e+000
1.000e+000

T= 13.001[s] 5.0006-001
0,000e+000

(v=1,000)

T= 1400012 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

.1.5w=v000

1.0008+000
5, 0008001
0.000e+000

V=1, 000)

14.000[s]

(a) 3 W&IT Bl (b) 1B 17 7538 20 AT
X-9.7.25 EFBEOCKEDOY I 2l — g R (F-WF10-F-20)
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T= 9.50079 XZ plainy= 0.52(j=6)
vector max=2.000000

2., 0006000

1.,500e+000

1. 000e+000
5,000e-001
0, 00084000

W=1,0007 |

T= 9.501[s]

T= 12.00152 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.,500e+000

1.000e+000
S, 000e-001
0, 00062000

(W=1,000) |

T= 12.002[s]

T= 13.00082 XZ plainy=0.52(j=6)
vector max=2.000000

2.000e+000

'145005'000

1.,000e+000
5.000e-001
0. 000e+000

g =1.000) |

T=13.001[s]

T= 14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 000e+000

'1.5009'000

1.0008+000
5. 000e-001
0, 00024000

2 {=1,000) |

T=14.001[s]

(a) 3 W&IT B (b) & 1B 17 7538 20 AT
X-9.7.26 EFBEOCKEDY I 2l — g R (F-WF10-F-40)
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T=  9.00114 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0008+000

1.5002+000

1,0002+000
5.000e-001
0. 00024000

tv=1.000)

9.001[s]

T= 10.50009 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+ 000
'1,500,»000

10008+ 000

T=10.500[s] 5.0008-001

0.0006+000

V=1.000)

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
'1,50030000
1,0008+000
T= 11.501s] Ia.ouo-om
T 0. 000e+000
'(V:l .000)

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

ll,sooevooo

1.0008+000
=, 0008001
0,0002+000

v=1.000)

2.000e+000

T= 12.501[s] %

(a) 3 W&JT B (b) & 1B 17 75 38R 20 AT
X-9.7.27 EFEBEOCKEDOY I 2l — g R (F-W20-F-20)
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T= 9.00114 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0008+000

1.500e+000

1,000e+000
5.,000e-001
0. 000e+000

V=1,000)

9.001[s]

/
T= 10.50009 XZ plain y= 0.52(j=6)

vector max=2.000000

T= 10.500[s]
/
T= 11.50063 XZ plain y= 0.52(j=6)

vector max=2.000000

2.000e+000

1,500e+000

1.000e+000
5,0008-001
0,0008+000

W=1,000)

2.000e+000

1,500e+000

1,0008+000
5.000e-001
0.000e+000

v=1,000)

T= 11.501[s]

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

li,ﬁuug»auo

1,000e+000
5,000e-001
0. 000e+000

V=1.000)

2.0002+000

T= 12.501[s]

(a) 3 W&IT B (b) 1B 17 715388 20 AT
X-9.7.28 EFMEOCKENDY I 2l — g R (F-W20-F-30)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

lijm)y 000

1, 000e+000
5,000e-001
0, 0008+ 000

/ e

T= 10.50133 XZ plainy=0.52(j=6)
vector max=2.000000

T=  8.501[s]

2.000e+000

1,500e+000

1,000e4000
5. 000e-001
0, 0006+ 000

/ e

T=11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

T= 10.501[s]

2, 00024000

1.500e+000

1,000e+000
5, 0008-001
0. 0008+ 000

{¥=1,000)

T= 11.501[s]

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

'1.5009< 000

1,0008+000
5,000e-001
10, 000e+000

(V=1,000)

T= 12.501[s]

(a) 3ot B (b) A 11 17 ¥7iE 328 4y A
X-9.7.29 EFMEOCKENDY I 2l — g R (F-W20-F-40)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

'1.500=A 000

1,000e+000
5.000e-001
0,000e+000

/ e

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

T=  8.501[s]

2.000e+000

'1.500=- 000

1,000e+000
5. 000e-001
0, 000e+000

/ e

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

T= 10.501[s]

2.000e+000

lLEDOe‘ 000

1,000e+000
5.,000e-001
0. 000e+000

V=1,000)

T= 11.501[s]

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0008+000
1.500e+000
1,000e+000
5,000e-001
10, 000e+000

=1,000)

() 3 WIC X (b) 6 BT i ek 53 A7
®-9.7.30 ERHEPKEOY I = L— g ViER (F-WF20-F-50)

9-54



T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1,500e+000

1.000e+000
5.000e-001
0,000e+000

/ oo

T= 10.50133 XZ plain y= 0.52(j=6)
vector max=2.000000

-
n

3.501[s]

2.000e+000

1,500e+000

1,0002+000
5.000e-001
0,000e+000

¥=1,000)

T= 10.501[s]

/
T= 11.50063 XZ plain y= 0.52(j=6)

vector max=2.000000

2,0002+000

1.500e+000

1,000e+000

5,000e-001

T= 11.501[s] 0. 0008+ 000
‘tw=1.0000

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0008+000

1,500e+000

1,000e+000
5,000e-001
10, 0002+000

V=1,000)

T=12.501[s]

(a) 3ot Bl (b) 0 11 17 ¥7iE 32 oy A
X-9.7.31 EFEBEOCKEDOY I 2l — g R (F-Wf20-F-55)

9-55



T= 9.50079 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0008+000

1.5002+000

1,000e+000
5.000e-001
0. 000=+000

V=1.000)

9.501[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0006+000

1.5008+000

1,0002+000
EVUUUE:UUI
o, 0006+000

V=1.000)

T= 12.002[s]

T= 12.50117 XZ plainy=0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1,0002+000
5., 000e-001
0, 0006+ 000

v=1,000)

T=

12.501[s]

T=14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0008+000

1.500e+000

1,000e+000
5.000e-001
0. 000e+000

V=1.000)

T= 14.001[s]

(a) 3 W&IT B (b) 1B 17 7538 20 AT
X-9.7.32 EFBEOCKEDOYI 2l — g R (F-W30-F-07)
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T= 9.50202 XZ plainy= 0.52(j=6)
vector max=2.000000

2.0008+000

1.500e+000

1.000e+000
5,0006-001
0, 000e+000

V=1, 000)

T=9.502[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
'1,5005»000
1.0002+000
T= 12.002[s] IE.UUUE:OUJ
.000e+000
“tv=1.000)

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000
5.0008-001
0, 000e+000

v=1,000)

T= 12.501[s]

T= 14.00136 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.,500e+000

1,000e+000
5,000e-001
I0.000e+000

V=1.000)

T= 14.001[s]

(a) 3 W&IT B (b) & 1B 17 715388 20 AT
X-9.7.33 EFBEOCKEDOY I 21— g R (F-W30-F-10)

9-57



T=  9.50079 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1.500e+000

1.000e+000
5.000e-001
0, 000e+000

V=1,000)

T=9.501[s]

T= 12.00152 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
'1,500;»000
1.000e+000
T= 12.002[s] |5.0w=om
.000e+000
“v=1.0000

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,500e+000

1.0008+000
5.0008-001
0, 000e+000

v=1,000)

T= 12.501[s]

T=14.00136 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.0002+000
T=14.001[s] 5.0000-001

0. 000e~000

v=1,000)

(a) 3 W&IT B (b) 1B 17 7538 20 AT
X-9.7.34 EFBEOCKEDYI 2l — g #ER (F-W30-F-12)
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T=  8501[s]

T= 10.501[s]

T= 11.501[s]

T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000

1,500e+000

1,000e+000
5,000e-001
0. 000e+000

W=1,000)

T= 10.530133 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0008+000

1,500e+000

1,000e+000
5., 0008001
10, 000e+000

=1, 000)

T= 11.50063 XZ plainy=0.52(j=6)
vector max=2.000000

2, 00084000

Ii,ﬁaommum

1.000e+000
5.,000e-001
0, 00024000

V=1.000)

T= 12.501[s]

(a) 3 UICFMRX
X-9.7.35 BEFHROKEOVI 2 L—a R (0-W20-F-20)

T= 12.50117 XZ plainy= 0.52(j=6)
vector max=2.000000

'LEG()a-m)o

1.000e+000
5, 000e-001
0., 00082000

=1.000)

2.000e+000

(b) $ 1L W e ook 53 A7
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T= 9.10131 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.500e+000

1.000e+000
T= 9101[5] 5. 000e-001
0. 5002+ 000

V=1, 000}

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

li,ﬁOOpOOD

1,000e+000
5. 000e-001
0. 000e+000

V=1,000%

T= 10.501[s]

T= 11.50186 XZ plainy=0.52(j=6)
vector max=2.000000

2.000+000
Il.EOOB‘OOU
1, 000e+000
11.502[s] 5. 0008-001
0, 000e+000

<V=1,000)

T= 12.50117 XZ plainy=0.52(j=6)
vector max=2.000000

2.000e+000
1.500e+000
1.000e+000
T= 12.501[5] 5., 000e-001

0. 000e+000

V=1, 000}

(a) 3 WL B (b) 1B 17 71538 0 AT
X-9.7.36 EFEBHEOAKEOY I 2L —3a iR (0-WF20-F-40)
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T= 9.00114 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 0002+000
1,500e+000
1.000e+000
9.001[s]
5.000e-001
0, 000e+000

V=1, 000)

T= 10.50009 XZ plain y= 0.52(j=6)
vector max=2.000000

2, 000e+000

1.500e+000

1.000e+000
5.0002-001
0. 000e+000

V=1,000%

10.500(s]

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2,000e+000
1.500e+000
1.000e+000
T= 11.501[s] 5. 0000-001

0. 000&+000

=1,000)

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

1.5002+000

1. 000e+000
5, 0002001
0, 000e+000

v=1,000?

12.501[s]

(a) 3 WL B (b) 1B 17 75388 20 AT
X-9.7.837 EFHROAEOY I 2L —a R (F-W20-G-20)
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T= 9.00114 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0008+000
1,500e+000
L0002+000
5,000e-001
T= 9.001[s]
0, 000e+000

V=1,000)

T= 10.50009 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 00020000

1.5008+000

1.000e+000
5. 000e-001
0. 0008+ 000

V=1, 000}

T=11.50063 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 0002+000

1.5002+000

1,0002+000
5.000e-001
0. 00024000

(V=1.,000)

T= 11.501[s]

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000
1.5002+000
1.000e0000
5.0002-001
0, 000e+000

{V=1.000)

(a) 3 W&IT B (b) 1B 17 715388 20 AT
X-9.7.38 EFEHEOAEBOY I 2l —a s R (F-WF0-G-30)
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T= 8.50149 XZ plain y= 0.52(j=6)
vector max=2.000000

2,0008+000
1,500e+000
1.0002+000
8.501[s] |5. 000e-001
0. 0002+000

{V=1.000)

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

2, 000e+000
1.5002+000
1.0002+000
T= 10.501[5] IS.uuo:om
0. 00024000

V=1, 0007

T=11.50063 XZ plain y= 0.52(j=6)
vector max=2.000000

2. 0002+000

1.5002+000

1,00024000
5.000e-001
0. 0002+ 000

V=1, 0000

T= 11.501[s]

T= 1250117 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1,5002+000

1.0002+000
5,0008-001
0, 000=+000

{V=1,000)

T= 12.501[s]

(a) 3ot Bl (b) 1L 17 ¥7E 328 2y A
X-9.7.39 EFEBHEOAEBOY I 2L —a s R (F-WF20-G-40)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

It .500e+000

1.0002+000
5.000e-001
0. 000e+000 "

{v=1,000) |

)
[}

8.501[s]

T= 10.50133 XZ plainy= 0.52(j=6)
vector max=2.000000

2. 000e+000

I1 500e+000

1.000e+000
5.000e-001
0. 0004000

{v=1,000) |

-
[}

10.501[s]

T= 11.50063 XZ plainy= 0.52(j=6)
vector max=2.000000

2.000e+000

1.500e+000

1.000e+000
5.000e-001
0. 000e+000

{W=1,000)

T= 11.501[s]

T= 12.50117 XZ plain y= 0.52(j=6)
vector max=2.000000

2.000e+000
lx .5002+000
100024000
T= 12.501[5] 5.000e-001

0.000=+000

{V=1,000)

(a) 3T (b) £ 1B 1hi E 2R o0 AR
X-9.7.40 EFRMEOKEOY I 2l —3a rER (F-WF20-G-50)
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T= 850149 XZ plainy= 0.52(j=6)
vector max=2.000000

2,0008+000

1,500e+000

1.000e+000
5.000e-001
0, 000e+000
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F-W120-F-20 216kPa O
F-W120-F-30 29kPa O
F-Wf20-F-40 X
F-W120-F-50 624Pa O
F-W£30-F-10 X
F-Wf20-G-20 1136kPa O
F-W120-G-30 X
F-W120-G-40 X
F-W120-G-50 X
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0 50 100 150 200 250 300

Pressure [kPa]
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